
 
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
_________________________________________________________________________	
BORRADOR	
	
Para	cada	catión	M(II),	se	tienen	los	cinco	pasos	del	modelo	generalizado:	
	
	 	 										Kd	

1) 	 ML+			⇌				M2+			+					L#		
	 	 	 	 								⇕	 	
	 	 	 	 							HL± 	

	 	 	 	 								⇕	
	 	 	 	 							H'L(	
	

2) 			(ML+)´			⇌				(M2+	)´		+					(L#)´		
	
3) 				[ML+]´=	[ML+]´;					[M2+]´=	[M2+];		 𝐿# ´ = 	 𝐿# +	 HL± + H'L( 	

	
4) 				𝛼12(3) = 1;		𝛼1(3) = 1;	𝛼2(3) = 1 +	106.8#93 +	10:'.'#'93	
	

5) 				𝑝𝐿´ = 𝑝𝐾= + log
ABC(D)

AB(D)AC(D)
+ log [F

GH]´
[FJ(]´

= 𝑝𝐾𝑑´ +	 log [F
GH]´

[FJ(]´
		

	



DZP	trazo	rápido:	
	
	
	
	
	
	
	
	
	 	 	 	 Cu(II)		+		L´	
	
	
	
	
	 	 	 	 	 	 	 CuL	
	
	
	 	 	 	 	 Mn(II)		+		L´	
	
	
	
	
	
	 	 	 	 	 	 	 MnL	
	
	
	
	
	
	
	
	
Ratio	plots:	
	
	 A	cualquier	pH:	
	
	 	 	(M2+	)´		+					(L#)´	⇌			(ML+)´				
	 inic.							Co																		CL	
	 equil.		 Co(1-f)			 														fCo	
	
	 f	=	fracción	formada	de	complejo.	
	
	 	
	



Utilizando	la	Kd´:	
	
	 𝐾𝑑´ = 	 LM(:#N)LC

NLM
;										log N

:#N
= 𝑝𝐾𝑑´ + log 𝐶2	

	
	 log N

:#N
= 𝑝𝐾𝑑´ + log 𝐶𝑜 + log 𝐶2 = 		 𝑝𝐾= + log

ABC(D)
AB(D)AC(D)

+ log 𝐶2			

	
	 𝐥𝐨𝐠 𝒇

𝟏#𝒇
= 𝒑𝑲𝒅- 𝐥𝐨𝐠𝜶𝑳(𝑯) + 𝒍𝒐𝒈𝑪𝑳	

	
Para	CL	=	1	mol/L:						𝐥𝐨𝐠 𝒇

𝟏#𝒇
= 𝒑𝑲𝒅- 𝐥𝐨𝐠𝜶𝑳(𝑯)	

	
	 	 											𝐥𝐨𝐠 𝒇

𝟏#𝒇
= 𝒑𝑲𝒅- 𝐥𝐨𝐠 𝟏 +	𝟏𝟎𝟗.𝟖-𝐩𝐇 +	𝟏𝟎𝟏𝟐.𝟐-𝟐𝐩𝐇 	

	
	
	
							𝐥𝐨𝐠

𝒇
𝟏 − 𝒇

	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	 	 	 	 	 	 	 	 									pH	
	
	
	
	
	
	
	
	
	
	

pH	



Esquema	de	enmascaramiento:		
	
Fijar	el	pH	del	medio	tal	que			Δ𝑙𝑜𝑔 N

:#N
	se	máximice:	

	
	
	
	
	
	
	
	
	
	
	
	
	
	 	 	
A	pH	=	5		se	tiene	el	siguiente	esquema	de	enmascaramiento:	
	
	 	 	 	 	 		Cu(II),	Mn	(II)	
	
	 	 	 	 	 	 pH	=	5;	pL	=	0	
	
	
	 	 	 				CuL		99.9%	 	 	 	 MnL		0.1%	
	 	 	 				Mn		99.9%	 	 	 	 Cu	0.1%	
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